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Question 1
Question Type: MultipleChoice

Please select which statement is the most accurate:

Options: 
A- Agile Development is an implementation of Scrum

B- Scrum is an implementation of Agile Development Scrum uma implementao do Desenvolvimento gil

C- Agile Development and Scrum are synonyms for the same methodology

D- Agile Development and Scrum are contrasting methodologies

Answer: 
B

Question 2
Question Type: MultipleChoice



When should the Product Owner ship or implement a Sprint increment?

Options: 
A- At the end of every Sprint

B- When the Team feels is done with every Sprint

C- Whenever the increment is free of defects

D- When it makes sense

Answer: 
D

Question 3
Question Type: MultipleChoice

The correct sequence of events in using Scrum framework is as follows:



Options: 
A- Sprint Planning, Sprint, Sprint Retrospective, Daily Scrum, and Sprint Review

B- Sprint Planning, Sprint, Daily Scrum, Sprint Review, and Sprint Retrospective

C- Sprint Planning, Sprint, Sprint Retrospective, Daily Scrum, and Sprint Review

D- Sprint Planning, Daily Scrum, Sprint, Sprint Review, and Sprint Retrospective

Answer: 
B

Question 4
Question Type: MultipleChoice

You are the Scrum Master and your Development Team of 6 members has completed six Sprints with thefollowing information:

Sprint 1: 10 pontos

Sprint 2: 11 pontos

Sprint 3: 15 pontos

Sprint 4: 14 pontos



Sprint 5: 15 pontos

Sprint 6: 10 pontos

The remaining story points for product development total 42. What is the approximate number ofSprintrequired to complete product

development?

Options: 
A- 6

B- 5

C- 4

D- 3

Answer: 
B

Question 5
Question Type: MultipleChoice



Which statement below best describes the primary objective of the Sprint Retrospective?

Options: 
A- The primary objective of the Sprint Retrospective is to identify what went wrong or hindered the Sprint

B- The primary objective of the Sprint Retrospective is to provide feedback to the Product Owner(s).

C- The primary objective of the Sprint Retrospective is to recommend ways to work better in the Sprint

Answer: 
C

Question 6
Question Type: MultipleChoice

Which of the following statements best explains what the term Sprint means in Scrum?

Options: 



A- A sprint is a specific amount of days for a team to test and resolve any issues prior to product release orshipment

B- A sprint is a specific amount of days for a team to work at a sustainable pace to finish select work.

C- A sprint is an agreed upon period of time for team members to select individual items from the productbacklog to work on.

D- A sprint is a specific amount of days for a team to work as many hours as needed to finish assigned work

Answer: 
B

Question 7
Question Type: MultipleChoice

The Sprint planning meeting is comprised of how many sections?

Options: 
A- 4

B- 3

C- 2



D- 1

Answer: 
C

Question 8
Question Type: MultipleChoice

What is the major difference between Product Backlog and Sprint Backlog?

Options: 
A- The Product Backlog is equal to the Sprint Backlog

B- The Product Backlog is a subset of the Sprint Backlog

C- The Sprint Backlog is a subset of the Product Backlog

D- The Sprint Backlog is owned by the Product Owner

Answer: 



C

Question 9
Question Type: MultipleChoice

What is the maximum time that Scrum recommends the team spend in the daily scrum (daily standup)?

Options: 
A- Fifteen minutes

B- Thirty minutes

C- One hour

D- Four hours

E- As long as ittakes

Answer: 
A
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